chig  SE4E

sIRIZUDOH=VIR (4)

A

g % BSEE—BTT.

[zl

()~ (16) DFAFL LI, (17) ~ (20) IFREXNEBE LIV,

1) —24+(=5=—(2+5)

=7+5-1

=11
(5) 18zx=(—6)——3x
7 Bx+1)+dax—7)=3z+1+4x—7
=3+4+4)x+(1-7)
=Tz—6

@) (=3)=(=9)=(=3)+(+9)

=6
11) 3+2°+(—5=3+8-5

=(x—5)X3
=3z —15
(17) 3z+7=7z—5
3r—Tz=—-5-17
—4z=—12
x=3

19 %x+4:%x R 6% 3013

3 1
<E.’I!+4>X6—€.’IJX6

r+24==x
8r=—24

z=-—3

(2) (=6)X(=9)=+(6Xx9)
=54

(4) 9+4X(—12):9X%X(—12)

= —<9X%X12>
=—27
6) (=5)X4a =—20a
8 (5a+10)—(2a —5)=5a +10—2a +5
=(5—2)a +(10+5)
=3a +15

(10) %(6x—9)+%(8x+12)=2x—3+2x+3

(12) (—=25)+(—=5)=+(25+5)

_5
1 1
(14) 36z +8)— = (102 +5)=3z + 4~ 2 — 1
=zx+3
(16) (182 —8)=2 — 18"2_8
18a 8
—T+<‘E>
=9q —14

(18) 0.3z—05=—2 W2 10 27T T
0.3z —0.5)x10=—-2x10

3z —5=-—20
3z=—15
r=—5

(200 —5x+9=-—6

—5r=—6—9
—5r=—15
z=3

© @BULTEYILY coxBITUS ML [5UDT RUIL RRIRTENSD>O— RTEET,



